DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

361) 31272 =4 =

362) 4649.5 + (=5) =
363) 18120 -4 =

36) 7902.9 =9 =

305 —4337.5 + 5 =

366 —4231.5 + (=7) =
367 —890.3 = 10 =

368) 209.43 + (—=9) =
309 6081.6 + 8 =

50 294+ (—1) =

57 2192.8 + (—4) =
312) 344.25 + 5 =

373 —492.93 + (=9) =
1) —14448 + (=7) =

) —349.2 + (—1) =

Mathematics: Division - Level 6 - Horizontal - Set 1
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54192 = (—6) =
27312 = (—8) =
1677.8 + (—2) =
44872 =8 =

535.92 = (—8) =

74730 = (—10) =

—1379 + (—2) =
18645 + (—3) =
—5802 + (—3) =
96.18 + (—3) =

—710.50 -5 =

71290 = (—10) =

—500.64 = (—6)
—382.12 + (—4)
30125 = 5 =
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